



St. Louis County, Minnesota

Date of Report: 5/13/2025 11:05:18 AM

**General Details** 

Parcel ID: 410-0024-00060 Document: Abstract - 975086 **Document Date:** 02/11/2005

**Legal Description Details** 

Plat Name: **KUGLER** 

> **Township** Range Lot **Block** 31

61 15

Description: LOT 1

**Taxpayer Details** 

**Taxpayer Name** WILLIAMS SCOTT T and Address: 8648 N AHLSTRAND TOWER MN 55790

**Owner Details** 

**Owner Name** WILLIAMS SCOTT T

Payable 2025 Tax Summary

2025 - Net Tax \$807.00

2025 - Special Assessments \$85.00

\$892.00 2025 - Total Tax & Special Assessments

### **Current Tax Due (as of 5/12/2025)**

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$446.00	2025 - 2nd Half Tax	\$446.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$446.00	2025 - 2nd Half Tax Paid	\$446.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

Property Address: 8468 AHLSTRAND RD N, TOWER MN

School District: 2142 Tax Increment District: Property/Homesteader:

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
204	0 - Non Homestead	\$38,700	\$122,300	\$161,000	\$0	\$0	-	
111	0 - Non Homestead	\$21,600	\$0	\$21,600	\$0	\$0	-	
	Total:	\$60,300	\$122,300	\$182,600	\$0	\$0	1826	





St. Louis County, Minnesota

Date of Report: 5/13/2025 11:05:18 AM

**Land Details** 

Deeded Acres: 33.87 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

Lot Width.	0.00								
Lot Depth:	0.00								
The dimensions shown are no						tan @ attanta a a a t			
https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.									
Improvement 1 Details (RESIDENCE)									
Improvement Type	Year Built			Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
HOUSE	1976	936 93		936	U Quality / 0 Ft <sup>2</sup>	RAM - RAMBL/RNCH			
Segment	Story	Width	Length		Foundat				
BAS	1	26	36	936	BASEMENT WITH EXTE	RIOR ENTRANCE			
CN	1	5	9	45	FLOATING				
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC			
1.0 BATH	2 BEDROOM	ИS	-		-	CENTRAL, ELECTRIC			
		Improveme	ent 2 Deta	ils (DET GAR	AGE)				
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
GARAGE	0	30	18	308	-	DETACHED			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	14	22	308	FLOATING	SLAB			
	Improvement 3 Details (SAUNA)								
Immunovament Toma	Vaan Duille	-		•	•	Chula Cada 9 Daga			
Improvement Type	Year Built 0	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
SAUNA				220	- Foundat	- !an			
Segment BAS	Story 1	Width Length		<b>Area</b> 220	FLOATING				
DAS	ı	11	20	220	FLOATING	SLAD			
	l	Improveme	ent 4 Deta	ils (DET GAR	AGE)				
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.			
GARAGE	2016	62	24	624	-	DETACHED			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	24	26	624	FLOATING	SLAB			
		Improveme	ent 5 Deta	ils (WOOD SH	HED)				
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	16		160	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	0	10	16	160	POST ON GF				
Improvement 6 Details (STORAGE)									
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	15		152	-	-			
Segment	Story	Width	Length	Area	Foundat				
BAS	1	8	19	152	POST ON GF	ROUND			





St. Louis County, Minnesota

Date of Report: 5/13/2025 11:05:18 AM

					Date of Repor			
		Improvem	ent 7 Details (G	REEN HSE)				
Improvement Type	Year Built	Main Fl	oor Ft <sup>2</sup> Gross A	Area Ft <sup>2</sup> Ba	sement Finish	Style C	ode & Desc	
STORAGE BUILDING 2010		51	510 510		-		-	
Segmen	•		idth Length Area		Founda			
BAS	1	17	17 30 510		FLOATING SLAB			
		Improven	nent 8 Details (L	.OG SHED)				
Improvement Type	Year Built	Main Fl	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish Style Code & D		ode & Desc	
STORAGE BUILDING 0			266 266					
Segment Story			<b>g</b>		Foundation			
BAS	1	14	19	266	SHALLOW FO	UNDATION		
		Improver	nent 9 Details (F	PU Chapel)				
Improvement Type	Year Built	Main Fl	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish Style Co		ode & Desc	
STORAGE BUILDING			384 384		<u> </u>			
Segmen	•		Length	Area		Foundation		
BAS	1	16	24	384	FLOATING	3 SLAB		
	;	Sales Reported	to the St. Louis	County Audito	or			
Sale	e Date		Purchase Price			CRV Number		
02/	/2005	\$190,000 (	This is part of a multi	parcel sale.)		163906		
		Α	ssessment Histo	ory				
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	201	\$38,700	\$110,900	\$149,600	\$0	\$0	-	
2024 Payable 2025	111	\$21,600	\$0	\$21,600	\$0	\$0	-	
, i	Total	\$60,300	\$110,900	\$171,200	\$0	\$0	1,381.00	
	201	\$33,600	\$95,100	\$128,700	\$0	\$0	-	
2023 Payable 2024	111	\$18,000	\$0	\$18,000	\$0	\$0	-	
, i	Total	\$51,600	\$95,100	\$146,700	\$0	\$0	1,210.00	
	201	\$33,600	\$86,800	\$120,400	\$0	\$0	-	
2022 Payable 2023	111	\$18,000	\$0	\$18,000	\$0	\$0	-	
2022 1 dyddio 2020	Total	\$51,600	\$86,800	\$138,400	\$0	\$0	1,120.00	
	201	\$29,200	\$79,100	\$108,300	\$0	\$0	-	
2021 Payable 2022	111	\$15,700	\$0	\$15,700	\$0	\$0	-	
20211 4,400.0 2022	Total	\$44,900	\$79,100	\$124,000	\$0	\$0	965.00	
		-	Γax Detail Histor	ry				
		Special	Total Tax & Special		Taxable Buil			
Tax Year	Tax	Assessments	Assessments	Taxable Land M			I Taxable M	
2024	\$881.00	\$85.00	\$966.00	\$44,902	\$76,141		\$121,043	
2023	\$857.00	\$85.00	\$942.00	\$44,231	\$67,765		\$111,996	
2022	\$825.00	\$85.00	\$910.00	\$37,487	\$59,020		\$96,507	





St. Louis County, Minnesota

Date of Report: 5/13/2025 11:05:18 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.